
V = 160

P.K. Lieu H Mn Sec Vmoy Observations Résultats

420,410 ROANNE 15 41 49 RETARD 3 MN

411,909 PN 47 38 88

409,337 PN 48 49 130 V=140 de 418,2 à 408,6

407,739 (St-Germain-l'Espinasse) 49 37 120 V=120 de 408,6 à 401,4

400,179 PR 53 33 115 V=110 de 401,4 à 385,2

393,052 Tunnel de la N 7 57 25 111

388,523 (St-Martin-Sail-les-Bains) 59 51 112

386,400 Tunnel W 16 01 01 109 (sommet du parcours)

385,140 (St-Pierre-Laval) 01 41 113 V=130 de 385,2 à 376,4

381,449 PN 03 29 123

378,540 (Arfeuilles-Le Breuil) 04 49 131 74,79 km

375,537 PR 06 16 124 41 mn 33

371,662 (Lapalisse-St-Prix) 08 12 120 V=120 de 376,4 à 372,9 V = 108,0

368,370 PR 09 45 127 V=130 de 372,9 à 369,5

366,700 PR 10 28 140 V=140 de 369,5 à 355,7 (bif.)

361,012 (St-Gérand-le-Puy-Magnet) 12 55 139

356,261 PR 15 40 104

355,665 Bif.racc.  [0,612] 16 21 52 V=60

355,622 Bif. racc. [0,000] 17 02 54

356,620 PR 17 59 63

357,580 PN 18 40 84

364,468 PRa 22 32 107 V=110

365,055 VICHY 16 23 22 42 RETARD 1 MN

(heure exacte)

2009 – 01 - 04 (1) ROANNE (15h39)  ->  VICHY (16h22+)

TER 875716/7 X 76521/522/535/536 (UM)


